
Y5 – Autumn – Block 3 – Step 2 – Common multiples Answers

Question Answer

1

30, 60, 90

2
a), b)   5, 10, 15, 20, 25, 30, 35, 40, 45, 50

10, 20, 30, 40, 50, 60, 70, 80, 90, 100

3

a)

b) multiple possible answers, e.g.
10, 90, 27

4

a) No
12 is a common multiple of 4 and 6 and is smaller than 24

b) multiple possible answers, e.g.
3 and 7

c) multiple possible answers, e.g.
4 and 10

5

a) 15, 30, 45
b) 14, 28, 42
c) 18, 36, 54
d) 20, 40, 60

18 45
16

63

99
54

24 36



Y5 – Autumn – Block 3 – Step 2 – Common multiples Answers (continued)

Question Answer

6

a) The difference is 12
The difference is the product of the two numbers.

b) 48, 60, 72
The difference between the common multiples of two numbers is always constant, but it 
may not be the product of the two numbers. For example, for 4 and 6, the common 
multiples are 12, 24, 36, … so the common difference is smaller than the product of the 
two numbers.

7 Children can check that they have circled the same numbers.

8 3


	Slide Number 1
	Slide Number 2

